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PENSION SCHEMES ACT 1993, PART X

DETERMINATION BY THE PENSIONS OMBUDSMAN
	Applicant
	:
	Mrs J E Franklin

	Scheme
	:
	Teachers Pension Scheme (TPS).

	Respondents
	:
	1.
Teachers’ Pensions (a division of Capita Business Services Ltd) (TP).
2.
Department for Children, Schools and Families (DfCSF)

(formerly the Department for Education & Skills).


Subject
Mrs Franklin’s complaint (as summarised by my office in October 2007) is that her two employers’ pensions from the TPS have not been calculated in accordance with the regulations that govern the TPS and, in particular, the salary figure used to determine both her pensions was incorrect.  As a result, her total pension should be higher.  She says that, although the DfCSF has acknowledged an anomaly arising from their internal procedures and practices, it is not willing to address the issue despite having the facility to do so.  She argues that each pension should be based on her salary in her respective employment and not a mixture of the two salaries.  Mrs Franklin further says as her pension is reduced as a result of the anomaly, applying internal procedures to produce such a result cannot be in accordance with the rules.
The Ombudsman’s determination and short reasons

The complaint should not be upheld against TP or the DfCSF because the Teachers’ Pensions Regulations 1997 do not provide at all for Mrs Franklin’s circumstances.  TP have used a method which is reasonable and consistent with the spirit of the 1997 Regulations.
DETAILED DETERMINATION

Material Facts
1. From 1 September 1966 to 30 November 1973 Mrs Franklin worked as a teacher at Plumcroft Primary School (the School) in a full‑time capacity.  She was a member of the TPS and when she ceased work to start a family her pension was deferred.  She returned to work at the School from February 1975 until her retirement, on 31 August 2005, although only subsequently worked part‑time.  At first her employer was the Internal London Education Authority but, from 1 April 1990, she was employed by Greenwich Council.  Initially, her post February 1975 part-time employment was non‑pensionable.
2. From 1 October 1979 until her retirement on 31 August 2005, Mrs Franklin also worked in adult education at Greenwich Community College (the College).  From 24 October 1998 her employment was transferred from Greenwich Council to Woolwich College Corporation.  This job was for a few hours each week.
3. On 22 January 1997 Mrs Franklin signed an election for her part‑time employment to be treated as pensionable.  She re-joined the TPS from 1 February 1997 and both concurrent part‑time employments became pensionable from that date.
4. From 1 January 1999 Mrs Franklin began paying additional voluntary contributions (AVCs) of 9% on her earnings from the School, which purchased past added years (PAY).  The college wrote to her on 11 February 1999 saying TP had informed them that PAY was only based on her part‑time contract with the School and consequently they had asked payroll to remove the AVCs from her post at the College.  Mrs Franklin says the College PAY never commenced.
5. On 12 November 2003, TP replied to a letter dated 5 November from Mrs Franklin.  It confirmed that under the Teachers’ Pension Regulations all hourly and daily rate supply became pensionable with any valid part‑time election on or after 1 May 1995.  As an election had been made on 1 February 1997, any part‑time employment undertaken was subject to the deduction of pension contributions.
6. An estimate of retirement benefits (EOB), dated 15 February 2005, was posted to Mrs Franklin indicating that her annual pension was £5,654.93 based on information up to 31 August 2004 (calculated as 13 yrs 148 days divided by 80 times £33,746.99).  A subsequent EOB viewed on the internet on 9 September 2005, based on a calculation date of 14 July 2005, showed her annual pension up to 31 March 2005 was £5,908.76 (calculated as 13 yrs 089 days divided by 80 times £35,692.17 (average salary)).
7. When Mrs Franklin retired, the pension she received in September 2005 was less than the last on-line statement she had seen, which prompted her to investigate how her pension had been calculated.  It emerged that TP calculated her total pension using a composite final ‘average salary’ figure, which Mrs Franklin now disagrees with.
Relevant provisions of the regulations and Procedural Notes
8. The regulations that govern the operation of the TPS are contained in the Teachers’ Pensions Regulations 1997 (the 1997 Regulations). The Procedural Notes (the Notes) are an internal document which the TP refer to when calculating benefits under the Scheme.  The relevant sections of the 1997 Regulations and the Procedural Notes are set out in the Appendix.
Submissions from TP
9. Regulation D1 (2) of the 1997 Regulations makes provision for the calculation of reckonable service to be used in the calculation of retirement benefits arising from a period of pensionable part‑time employment.
10. As Mrs Franklin had more than one part‑time employment contract, her reckonable service was calculated separately in respect of each contract using the appropriate full‑time equivalent rate of salary and then aggregated.  There is no provision in the 1997 Regulations for a period of part‑time employment undertaken after the effective date of a part‑time election not to be treated as pensionable.

11. The best consecutive 365 days for both pensionable part‑time employments undertaken by Mrs Franklin was during the period from 1 September 2004 to 31 August 2005.

12. Mrs Franklin’s earnings from the College were £1,858 from 1 August 2004 to 31 March 2005 and £1,270 from 1 April 2005 to 31 August 2005 (the actual earnings for these two periods is equivalent to an annual salary of £24,441).  Her earnings from the School were £11,200
 from 1 August 2004 to 31 March 2005 (equivalent to an annual salary of £35,706) and £6,123 from 1 April 2005 to 31 August 2005 (equivalent to an annual salary of £36,543).
Reckonable Days in last 365 calculated as:
£1,858 / £24,441 x 365 = 28

£11,200 / £35 706 x 365 = 114

£1,270 / £24,441 x 365 = 19

£6,123 / £36,543 x 365 = 61

Annualised Pensionable Salary – 1 August 2004 to 31 March 2005 calculated as:
[(28 x 24,441) + (114 x £35,706)] / 142 = £33,485

Annualised Pensionable Salary – 1 April 2005 to 31 August 2005 calculated as:
[(19 x 24,441) + (61 x £36,543)] / 80 = £33,669
Average salary for the 365 consecutive days in last three years was calculated as:

1 September 2004 to 31 March 2005 = 212 days

1 April 2005 to 31 August 2005 = 153 days

Average Salary [(212 x 33,485) + (153 x 33,669)] / 365 = £33,562.13

13. Regulation E31 (1) (a) says (subject to paragraph (11)) that a person’s average salary, where the material part of his average salary service is one year or more, is his full salary for the best consecutive 365 days of that part.
14. The Notes are an internal document which was never intended to be issued externally.  Nonetheless, it is confident that the Notes do reflect the average salary provision for regular employment as set out by the relevant part of the 1997 Regulations.  By averaging the salaries paid during a period of multiple employments in proportion to the respective service undertaken, it believes the Notes and the 1997 Regulations are being followed and the resultant salary used in the calculation of retirement benefits is representative of the average salary for a person with two regular concurrent part‑time employments.

15. The 9% monthly contributions Mrs Franklin elected to pay to purchase PAY applies to all pensionable employments during the election period.  Therefore, the 9% AVCs should have been deducted from her pensionable earnings with both the School and the College.  It would therefore appear that arrears of AVCs are due in respect of her employment with the College and on receipt TP will arrange for her award of retirement benefits to be revised to include the additional PAY these contributions represent.
Submissions from DfCSF
16. It is true the 1997 Regulations do not explicitly provide for the average salary to be calculated in this way.  But neither do the 1997 Regulations provide for retirement benefits to be based on the preferred concurrent salary only or on separate calculations of pension benefits for each piece of service aggregated together.  The first alternative would unfairly select against the TPS while the second would run counter to the unlimited aggregation facility.  It maintains its method is reasonable and fair.

17. The 1997 Regulations do not, and cannot, expressly cover every potential situation that can occur.  In determining how to act in situations not expressly and prescriptively covered, it always acts in accordance with the 1997 Regulations and gives effect to an outcome that most closely mirrors that intended by the 1997 Regulations.  In the case of calculation of benefits it has to be conscious of not just the regulation referring to the calculation of final average salary (regulation E31), but also the regulation that refer to unrestricted aggregation of service (regulation E32) and those that govern the eligibility for part‑time service to be pensionable (regulation B1).

18. The main purpose of having a final average salary period is to ensure that the figure used for calculating pension benefits is representative of the average salary paid during this period.  Regulation E31 in particular makes it clear that this should be the best consecutive 365 days of the final salary period and does not expressly exclude concurrent service in different posts.

19. The composite average salary is based on an average of the two part‑time equivalent salaries in proportion to the reckonable service credited in respect of each contract.

20. It recognizes that Mrs Franklin is in an anomalous position in that the pensionable service in her lesser paid part‑time post did ‘drag down’ the final average salary calculation to such an extent that if her final average salary had been calculated on the salary and service details of her more highly paid post alone then her benefits would have been higher.  This is complicated somewhat by the fact that she was paying AVCs during the period of time that she was employed in the two posts, but even after factoring in the effect of this her position is still anomalous.
21. However, an anomaly does not constitute an injustice and applying the 1997 Regulations even where this results in an anomalous outcome does not of itself constitute maladministration.  An anomalous outcome is one that is not typical, this can include outcomes that are more beneficial to individual members as well as ones that are less so.  Thus, it does not as a rule act extra statutorily to counter anomalous outcomes.

22. It has no statutory power under the 1997 Regulations to choose to let one part‑time job count as reckonable service while not allowing another concurrent part‑time job to do so.  Part‑time elections are all or nothing, either all part‑time service during the period of the election is reckonable or, if the election is rescinded, none of it is.  This is covered by regulation B1.
23. Because of the anomalous outcome of the calculation of her final average salary, Mrs Franklin believes that the calculation and/or how it is applied should be undertaken in a different form.  This is not possible.  These calculations are undertaken and applied in accordance with the requirements of the 1997 Regulations.  It would not be appropriate to apply different methods of calculating the average salary to every different set of circumstances.

24. The Scheme is peculiar in allowing for all service accrued throughout an individual’s career to be aggregated in the calculation of benefits, with the final average salary applied, even where there have been breaks in service.  This is to the benefit of members in the overwhelming majority of cases, including Mrs Franklin.

25. The policy of calculating final average salaries on the basis of a composite of all the concurrent pensionable pay during the best consecutive 365 day period is not discriminatory but rather congruent with the spirit and intention of the 1997 Regulations, particularly those that cover aggregation of service and the pensionable nature of part‑time service following a part‑time election.  By using a composite it ensures that the salary rate for both part‑time jobs that make up the final average salary position (and which are equally counted for the purpose of service accrued) are fairly represented.
26. Both of Mrs Franklin’s former employers confirmed that the part‑time service undertaken with them was regular part‑time service at the time of her application for age retirement benefits in 2005.  Therefore the conditions in the working procedures specific to mixed regular and irregular part‑time service cannot be applied to her case.
27. It appreciates that Mrs Franklin would like them to use the higher full‑time equivalent salary of her part‑time employment or that different final average salaries be calculated for each post.  But it cannot agree to this.  This would then cease to be an average salary calculation.  Similarly, if each part‑time job was calculated separately and aggregated her pension from each employment – a proposal that runs counter to the spirit and letter of the unlimited aggregation service facility – then it should also follow the process to its logical conclusion and also calculate her preserved service from the 1960s/1970s separately and then aggregate this with all the latter service.  Though, even with the value of the 1970s salary uprated in line with inflation, this would lead to a marked worsening of Mrs Franklin’s resultant pension position.
28. There is no responsibility on the part of TP or the DfCSF to provide financial advice to members.  Members are best placed to know their own intentions and future career plans and are expected to make such judgements with whatever additional advice they deem necessary to acquire.

Submissions from Mrs Franklin
29. Mrs Franklin accepts TP has followed the Regulations.  Her complaint is about the anomaly caused by their procedures, which she says should be removed.

30. Mrs Franklin summarises the details as follows:


The School
The College
Total/Composite
Full-time service
7 yrs   62 days
0 yrs 00 days
7 yrs 062 days (7.170)


Part-time service  #
3 yrs 227 days
1 yr  29 days
4 yrs 256 days (4.701)

(# expressed as full-time equivalent)

Past added years
1 yr 262 days
0 yrs 00 days
1 yr 262 days (1.718)
Total service
12 yrs 186 days
1 yr 29 days
13 yrs 215 days (13.589)

Final ‘average salary’ #
£36,056
£24,441
£33,562

(# expressed as full-time equivalent)

31. Noting that TP/DfCSF say her annual pension is £5,701 [i.e. 13.589/80 x £33,562], she says her annual pension should be either £6,124 [i.e. 13.589/80 x £36,056] if her College job was deemed irregular, or £5,967 pa [i.e. (12.510/80 x £36,056) + (1.079/80 x £24,441)] if her two jobs were calculated separately – as if performed by two different people.  She thinks her pension should not be less than this figure.

32. A similar pension figure of £5,978 is achieved if the School salary is applied to her full‑time service and PAY alone, and the composite salary is applied to the period of multiple concurrent employment [i.e. (8.888/80 x £36,056) + (4.701/80 x £33,562)].

33. She accepts there is no disagreement between the parties over the salary figures used in the calculations – just the way that the figures are used.  She does not disagree with the calculation of the final ‘average salary’ for each job, but she does disagree with the way these are then used to form a composite final ‘average salary’.

34. Their method for composite final average salaries does not work at all because an acceptable method would always result in a job making the benefit greater than if it had not been undertaken. The composite salary method does not achieve this.
35. Mrs Franklin has submitted evidence of this in the form of various examples, based on variables of her initial data excluding PAY.
36. As a result the method used by TP cannot possibly be described as just, fair, reasonable or within the objects of the scheme or the spirit of the Regulations.
37. Her job at the School was her ‘main’ regular job for which she had a permanent contract of employment.  She was paid a regular monthly salary.

38. Her job at the College was only a temporary yearly contract which was renewed annually.  She was not paid a regular salary each week/month by her employer.  She was hourly paid and had to claim retrospectively on an ad-hoc basis using salary claim forms.  Some times this was months after she had worked.  She took two classes per week, each of two hours duration.  She realises TP does not regard the College job as irregular but she feels it is close enough as to justify use of the concession, especially as no other remedy has been proposed to remove what they admit is an anomaly.
39. The College job only contributes about 400 days to her total reckonable service, representing about 8% of the total, whereas the School job accounts for over 92% of her reckonable service.

40. The College job increased her earnings by 20‑25%.  Her superannuation contributions increased similarly as she was paying 6% of her earnings from the College as well, and she expected this to be reflected in her overall pension.  A composite final ‘average salary’ serves to reduce her overall pension despite the fact that in practice the College job increased her pay.  In addition, she has paid additional contributions for a smaller pension.  This is anomalous and cannot be right.  It is also unfair.  The anomaly arises from an incorrect interpretation of their rules/regulations.  Whoever drafted the Notes must have been aware that anomalies could arise and built in a facility to use the main salary throughout where the smaller job was defined as irregular.
41. The TPS is a defined benefit final salary pension scheme whose benefits are a direct function of service times salary.  Since contributions are exactly linked to earnings, since earnings exactly determine service, and since service exactly determines benefit, it follows that there is indeed an exact link between contributions and benefits.  Every contribution made ‘purchases’ an identifiable service period and benefit.  In a defined benefit ‘service times salary’ scheme the basic formula is definitive, additive and cumulative.  It is possible therefore to relate each and every increase in service with the increase in pension it delivers.
42. DfCSF state that an anomaly is not an injustice.  Had she ceased the College job a year earlier her pension would have been £6,066 pa based on her last year’s earnings from the School and taking account of the fact that she would have had slightly less service.  So one year’s additional superannuation contributions and service from her College job bought a negative pension of £365 a year.  She thinks this is an injustice.
43. The Notes allow for irregular work to be discarded.  Although TP has told her it does have a degree of discretion in some cases, for example where it regards the second job as irregular, it is unwilling to extend this facility to her.

44. Her pension could be based on annual earnings of £36,056 if the College job was regarded as irregular.  She thinks that her final ‘average salary’ from her main teaching job at the School should be used throughout.  This would increase her annual pension from £5,701 to £6,124.  This could be granted on an ‘ex-gratia’ basis or alternatively by using the TPS discretionary powers to treat her hourly paid job as irregular.  Her earnings were £20,451 (School £17,323 and College £3,128) and she worked at the School and the College for 40% and 12.80% respectively of the full‑time equivalent.  Alternatively, a higher salary figure of £38,733 could be used on the basis of £20,451 / 52.80%.
45. Even if the respondents were able to defeat all or any of her proposals it does nothing to defeat her claim, i.e. that the anomalies they have admitted should be removed.  DfCSF, as Scheme Managers, has a duty of care towards its members and at the very least it should give heed to addressing an anomaly which it has admitted.

46. TP have told her that the salary is the weighted average of the annual scales for the two jobs.  If anything the scales should be aggregated not averaged in order to produce a scale figure increased in line with the effect the College job had on her total earnings.  Any averaging that takes place is ‘vertically’ down through the years of one particular job and there is nothing in the Regulations that admits of any ‘horizontal’ averaging between jobs.
47. She elected to pay extra contributions over and above the normal 6% employee contribution rate.  When she first applied she had asked for the College job to be included in PAY, but TP said the calculations were too complicated and they could not cope with hourly paid employment.  This dialogue was over the telephone and she has nothing in writing, however, her employer did write to her about this.

48. TP calculated her PAY on her School job alone and were either unwilling or unable to extend the facility to the College job.  Consequently, she paid 15% superannuation contributions on her earnings from the School and 6% on her earnings from the College.  Her PAY had nothing to do with the College job and this is another reason why the calculations should be kept separate.

49. The calculation of her pension is outwith the spirit and possibly the letter of the 1997 Regulations.  There must be a differentiation between the 1997 Regulations and any ancillary instructions/procedures in use by TP staff.

Conclusions
50. What the 1997 Regulations require is that, for a period of part time service, Mrs Franklin’s "full salary" is what it would have been if the part time service had been full time.  But there is no proper answer to the question "what would Mrs Franklin’s full time salary have been" when she had two part-time jobs.  She would never have had a full time salary from each job.  There is simply no calculation method set down under the 1997 Regulations that covers her case.
51. In that vacuum the DfCSF and TP sensibly chose to deal with it in a way that they considered consistent with the overall principles of the Scheme.
52. The Notes that TP and the DfCSF rely on deal with multi employment on a consecutive rather than a concurrent basis.  The only reference made to concurrent employment says that it is not possible to combine the “new style” average salary calculation with the supply average salary calculation when the regular teaching and the irregular supply work are concurrent.  There is also a statement that to calculate the supply average salary could artificially inflate it.  Nevertheless it would make sense for Mrs Franklin to be dealt with in a way that was at least not inconsistent with the Notes.
53. Mrs Franklin asserts that because her College job was a yearly contract for four hours per week, hourly paid with no regular salary payment and two weeks’ notice, it should be deemed irregular.  Mrs Franklin has not kept her previous employment contracts from the College.  However, both her former employers have confirmed that her part-time service with them at the time she applied for retirement was regular.  I therefore cannot criticize TP for not applying the concession they say they have, which would enable Mrs Franklin’s equivalent full‑time salary from her School job to be used in conjunction with her entire service if her College job was regarded as irregular.

54. Mrs Franklin is claiming, as an alternative, that her pension from both employments should be calculated separately, i.e. by not aggregating her reckonable service together and using each of the respective full‑time equivalent salaries.  However, I see some force in the DfCSF’s argument that if her benefits are calculated separately that is inconsistent with the Scheme’s provisions requiring her reckonable service from 1 September 1966 to 30 November 1973 to be aggregated and note their comments that she would be worse off.
55. To put it another way, Mrs Franklin says, not unreasonably, that it is unfair that she is worse off than if there had been two people doing two jobs.  But in fact she has had at least three periods of employment (one full-time and two part-time) – possibly more depending on the contractual arrangements with the College.  She could be treated as three or more people in which case she might well be even worse off.

56. I do not agree that for a method to be acceptable it must guarantee that working in a second part time job can never reduce the benefit that would have been paid without that job.  Neither do I accept the correlation between contributions and benefits that Mrs Franklin argues for.

57. The Scheme (like many others) is not designed to provide precise value for money in that way.  There is not an exact correlation between contributions and benefits.  A Scheme member could, for example, have paid contributions on relatively low salaries (even adjusted for inflation) early in their career but could receive benefits associated with that time based on much higher earnings.  Similarly a member might pay contributions on high earnings that fall outside the period for calculation of final salary on which the pension is based.
58. The anomaly that Mrs Franklin sees results from the fact that the lower paid job makes a small contribution to her total service, but a proportionately larger contribution to final salary for the pension calculation.  In different circumstances the opposite might be true.  

59. The test for the decision that has been reached on how to make the calculation in the absence of any provision in the 1997 Regulations is whether it is one that the DfCSF and/or TP could reach without it being perverse or irrational.  It is not ideal that the calculation method produces inconsistent results, but the fact that it does so does not make it perverse.  The aggregation of service in the Scheme is one reason for adopting the methodology.  Another is the need to be consistent with the final salary nature of the scheme (so to base the calculation on the 365 days and not to apportion pay over some longer period). There may have been other possible and equally logical approaches, but the one that has been chosen is supportable.  I find on balance that the approach adopted of weighting the salaries in line with Mrs Franklin’s reckonable service in her best 365 consecutive day period was not unreasonable.  As a result, I am unable to uphold her complaint.

60. For the reasons given above, I do not uphold Mrs Franklin’s complaint against either TP or the DfCSF.
TONY KING

Pensions Ombudsman

27 March 2009

Appendix

The relevant parts of the 1997 Regulations at the time of Mrs Franklin’s retirement state:

“Part B - Pensionable Employment

B1 Employment - general

(1)
Subject to paragraphs (2) to (5), regulations B3 and B3A and regulations B4 to B7, a person is in pensionable employment while he is in employment-

(a)

(i)
in a capacity described in Schedule 2,

(ii)
which satisfies every condition and is not within any exception specified in that Schedule …, and

(iii)
which is not employment by a function provider, or

(b)
as a teacher in an accepted school, or 

(c)
as a teacher employed by an accepted function provider within the meaning of regulation B3A(1), in connection with- 

(i)
the performance of the functions which it performs on behalf of,

(ii)
the exercise of functions of, or

(iii)
the provision of services for the purposes of or in connection with the exercise of functions of,

the local education authority.

…

(4)
A person who is in part-time employment is not in pensionable employment unless he has at some time made an election for the purposes of this paragraph.

…

D1 - Reckonable service generally

(1)
Subject to regulation D2, a person is entitled to count as reckonable service-

(a)
subject to paragraph (2), any period spent by him in pensionable employment, 

(b)
any period counting as reckonable service by virtue of regulations D3 (past period for which additional contributions have been paid), D4 (current period for which additional contributions have been paid), …,  
(c)
…

…

(2)
Where during a financial year a person has spent one or more periods in part-time pensionable employment each such period counts as-

365 x A/B

days of reckonable service, where-

A is the person's contributable salary for the period, and

B is what his contributable salary for the whole of the financial year would have been if the employment had been full-time and had continued throughout the year.

Part E – Benefits

…

E5 Amount of retirement pension

(1)
Subject to paragraphs (2) to (6) and regulations E7 to E10, the annual rate of a person's retirement pension is 1/80th of his average salary multiplied by his effective reckonable service.

…

E31 Average salary

(1)
Subject to paragraph (11), a person's average salary-

(a)
where the material part of his average salary service is one year or more, is his full salary for the best consecutive 365 days of that part, and 

(b)
in any other case, ….

…
(3)
Average salary service comprises-

(a)
any period spent by the person in pensionable employment, 

(b)
any period counting as reckonable service by virtue of regulation D4 (current period for which additional contributions have been paid), and 

(c)
any period of comparable British service ….

(4)
The material part of a person's average salary service is-

(a)
where the person has less than 3 years of such service, …, or 

(b)
in any other case, the last 3 years of it.

…

(7)
Subject to paragraphs (8) and (9), a person's full salary-

(a)
for a period falling within paragraph (3)(a), is his contributable salary for the period of pensionable employment, disregarding any reduction during sick leave or maternity , paternity  or adoption  leave, 

(b)
for a period falling within paragraph (3)(b), is the notional salary by reference to which the additional contributions paid under regulation C9 or, as the case may be, C10  were calculated, and 

(c)
for a period falling within paragraph (3)(c), …

…

(10)
Where a person has during the material part of his average salary service spent any period in part-time employment the full salary for that period shall be the amount which it would have been if the employment had been full-time during that period.

…

E32 Effective reckonable service

(1)
A person's effective reckonable service is so much of his reckonable service as counts for the purpose of calculating a benefit under this Part, except a pension under regulation E26.”
TP’s Procedure Note, ‘Benefits: 10/98 Membership: Part-time 19’, says,

“This procedure replaces the procedure of the same number, dated 10.02.98.  It has been amended to include a new Section B3 (multi-employment).

THE TEACHERS’ PENSION REGULATIONS 1997

Calculation of Part-Time Average Salary

SECTION A – BACKGROUND INFORMATION

Reg. E31 (10), H13 & Schedule 16 of the above Regulations insert a new method of calculating a part‑time average salary in line with European law: for average salary purposes, regular part‑time employment counts in the same way as full‑time employment.  This means that a regular part‑time teacher is not discriminated against when his/her average salary is calculated, i.e. it equates to that of a full‑time teacher.

…

2. This Regulation change only applies to teachers who are employed in regular part‑time pensionable employment, i.e. they have a contract which requires them to work for a specified amount of time, NOT on a relief/supply basis.  Section B explains how we will identify a teacher’s part‑time employment type.

…

SECTION B – WORKING PROCEDURES

…

3 CLERICAL CALCULATION OF NEW PART-TIME AVERAGE SALARY

BACKGROUND

Multi employment can be made up of regular part‑time teaching and irregular supply work.  The average salary for regular part‑time teaching must, of course, be calculated under the new provision but supply work is not.  It is not intended that anybody should be disadvantaged by the introduction of the new provision.  It has been decided, therefore, that a comparison must be made between 1/ the average salary for the regular part‑time work (as calculated under the new 1997 Regulations) and 2/ the average salary for multi employment (as calculated under the 1988 Regulations), with the higher being used in the calculation of benefits.

It is not possible to combine the “new style” average salary calculation with the supply average salary calculation when the regular teaching and the irregular supply work are concurrent.  Also, to calculate the supply average salary could artificially inflate it.

The new style average salary for the regular part‑time teaching would normally be higher because it will be based on the last 365 days of pensionable employment in a regular capacity, whereas the supply average salary goes back the actual days worked.

ACTION

Minute case to Employer Group (TDCT), requesting a break‑down of the multi‑employment: you will be supplied with a print‑out.  When it has been received:
a. If all multi-employment is regular part‑time, calculate the case in the same way as any other regular part‑time case.

b. If all multi-employment is irregular …

c. If all multi-employment is a mixture of regular & irregular …

EXAMPLE:
…”
�Actual earnings were confirmed by her employer as £16,824 from 1 April 2004 to 31 March 2005.  Earnings were prorated 243/365 days for this shorter period.
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